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1.3
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15 2P 1
2 2P
50 PO
AS1T | AS2 | AS3 | (kN) cVv (kN) kN)
1] Py (kN) 11.3] 8.8] 8.8[ 9.1 0.1561] 0.929 8.93
21 [Pu 0.2 Vv 2p -1 (kN) 58| 58| 69| 6.14| 0.104] 0.951 584] c 0o | 14
3] 2/3  Pmax (kN) 11.1| 10.0| 11.3| 10.80 0.069 | 0.968 10.45 | > :
[4] P150 (KN) 51| 54| 58] 544| 0.063] 0.970 5.28
Pmax (KN) 16.6 | 14.9]| 17.0
Pu (kN) 17.1| 145] 16.1 AS1 AS?2 AS3
K (x 10°%kN/rad )| 0.49| 054 | 0.67 1 0.5 0.1 0.1
U - 1.92| 2.48| 2.78 2 0.6 0.4 0.4
1/ 2p -1 - 0.59| 050 0.47
vy (x 10°%rad ) | 22.95] 16.20 | 13.09
y vV (x 10°%rad ) | 34.81] 26.84 | 23.59 1 25rad
y u (x 10°%rad ) | 66.67 | 66.67 | 66.67 1 15rad
y 0 (x 107rad) 755| 651 6.51
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AWL [ AW2 [ AW3 | (kN) cv (kN) kN)
[1] Py (kN) 127] 125] 11.1] 12.12] 0.074] 0.965 11.70
2] 1Pu 0.2V 2p -1 (kN) 11.2] 121 12.4] 11.88] 0.053] 0.975 1158 ) 1 o4 | 30
3] 273 Pmax (kN) 165| 182 | 18.1| 17.62| 0.055| 0.974 17.16 | :
[4] P150 (kN) 10.6 | 115] 12.3| 11.44] 0.074] 0.965 11.04
Pmax (kN) 24.7| 273 271.2
Pu (kN) 23.2| 248 23.0 AW1 AW? AW3
K (x 10°%kN/rad )| 1.38| 1.59 | 2.19 1 0.1 0.1 0.1
u - 3.39] 3.48] 4.11 2 0.4 0.4 0.4
1/ 2y -1 - 042 0.41] 037
vy (x 107rad ) 9.19| 7.89| 5.06
y Vv (x 10°%rad) | 16.77 | 15.57 | 10.51 1 30rad
y U (x 10°%rad) | 56.85 | 54.12 | 43.24 1 20rad 0.8Pmax
y 0 (x 10rad) 7.40| 6.32| 5.02
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4 2P
50 PO
BS1 | BS2 | BS3 | (kN) cv (kN) kN)
1] Py (kN) 11.1] 11.8] 109[ 11.26 [ 0.041] 0.981 11.04
2] 1Pu 0.2V 2p -1 (kN) 79 8.0 70| 7.62 0.071] 0.966 7.36| co1 | 18
3] 2/3 Pmax (kN) 145 15.1| 13.6| 14.39 0.053| 0.975 14.04] > :
[4] P150 (kN) 73| 74| 6.1] 694 0.100] 0.953 6.61
Pmax (kN) 217 22.6] 20.4
Pu (kN) 19.8 | 20.7] 185 BS1 BS2 BS3
K (x 10°%kN/rad )| 0.73| 0.73]| 0.63 1 0.1 0.1 0.1
U - 2.47 | 2.37] 2.28 2 0.4 0.4 0.4
1/ 2y -1 - 050 | 0.52| 0.53
vy (x 10%rad ) | 15.10 | 16.04 | 17.22
y Vv (x 10%rad ) | 27.01 | 28.17| 29.24 1 30rad
y u (x 10°rad ) | 66.67 | 66.67 | 66.67
y 0 (x 107rad) 5.80 | 5.64| 7.86
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18 2P 4
5 2P
50 PO
BW1 [ BW2 [ BW3 | (kN) cv (kN) kN)
[1] Py (kN) 17.0| 18.8] 20.2] 18.68 0.088] 0.959 17.91
2] Pu 0.2V 2u -1 (kN) 165 | 17.4] 16.3| 16.72 0.037] 0.982 16.42) 1126 | 41
3] 2/3 Pmax (kN) 239 | 25.3| 26.5| 25.23 0.050| 0.976 2463 :
[4 P150 (kN) 14.4| 15.4] 15.3] 15.03 0.036] 0.983 14.78
Pmax (kN) 35.9| 38.0] 39.7
Pu (kN) 328 | 34.6] 36.6 BW1 BW?2 BW3
K (x 10°kN/rad )| 1.80| 1.91| 1.63 1 0.1 0.1 0.1
u - 3.66 | 3.68] 2.97 2 0.4 0.4 0.4
1/ 2p -1 - 0.40 | 0.40] 0.45
vy (x 107%rad ) 9.45| 9.85| 12.44
y Vv (x 10%rad) | 18.22 | 18.12| 22.48 1 30rad
y u (x 10°%rad) | 66.67 | 66.67| 66.67
y 0 (x 107rad ) 7.63| 6.19| 6.30
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2.2
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2.3

6
ASO6P | ASIP | BS0o6P | BSiP | Asp BSAP BSap
S TkN] 0.9 23 15 31 8.4 131 14.0
150 T120 TkN/m] 15 26 2.6 3.4 2.3 36 3.8
> TkN] 16 32 3.0 6.8 28.6 243 200
y TKNZm] 26 35 50 7.4 7.9 6.7 55
TkN] 1.9 3.9 37 75 21.9 28.7 275
2/3Pmax TkN/m] 3.2 43 6.2 8.3 6.0 7.9 75
TkN] 1.0 25 17 32 91 143 13.8
02Pu/Ds R 16 28 28 35 25 3.9 3.8
oy TkN] 25 53 51 10.4 38.2 38.1 354
TkN/m] 42 59 85 114 105 105 97
. TkNZrad] 95 277 159 207 738 1379 371
TkN/rad/m] 159 304 265 327 203 379 377
m n 243 327 1.86 169 121 2.5 241
Ds . 051 0.42 061 0.65 0.84 053 051
> v Trad] 0.026 0.019 0.032 0.035 0.052 0.028 0.026
5 u [rad] 0.064 0.063 0.060 0.059 0.063 0.062 0.062
(1
P50 1/150rad. Py Pmax Pu
K u 5 u/d D
ov ou
3.
1.2 2.4
1.3 2.6
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